(n2 - 2)(3n +5) _

e —2¢"-3=0
lx—8x% =0
2

2x :364X
1
1+ x

l-—— =k

e =k-4"
4x°e"™ —16xe™ =0
2In(5x) =In(x+2)

(2x+5) +5(2x+5)-36=0
10> +3(10%)-10=0
3(2%)-11(2)-4 =0

VXx+9-2=+x-3

x 2 1

12 x x

2
[ ! j+ ! -6=0
x+38 x+38
xt+2x2 =3
L+4:l
x—1 5
(x+5)x-2)=8
3az+1=3a—-4z
27 _,
z z+1
0=12y*+12y—24
In(w+2) = In(w)+1n(5)
P =10ée"
2 =¢?
t’e” +9te” =0
In(r)+(2r) = In(8)
Slog(t) =3
t*=9t=0

0

n—3
(p* =5kp+3) _,
p+1
log(w) +log(w+1) =10g(20)




L= 7= |k
2T\ g

o (1-2u6)(u+86)-(0-16°)
(u+6"f
k(x + 7, )7 ( j(x2+r0 )y(Zx)

X= =0

j(J

=0 Assume u >0

+

| )
S lm( i

u\a

X = - 14kx_3 + 2k(20 X =0 Assume k#0 hint: Do not expand the power
x= Y 999
V1200? + x?
W= —5.12Vw > +10w =0 Assume V >0
Simplify

2x% (xz - 3)~ 2x—§x% (xz —3)2

(-3 )




